? I(—E‘C E H ell 14727 Key Exchanggz__

Alice & Bol, agree o Priwme P and be N
Eve cees pix b.

Alice e

Picks 2, [€S< p- picks £, l<t<=vp-|
computes S=b %p computes T=\F %p
sends O to Beob lifths  sends T Ao Alice
computres =TS 7 C. om putes \<=St%p
Uses K as secret ker Uses K as st key

E xawmple: p=1e3 b= ]
Alice picks <s=13

Pob picks T=23

mic;e: Belb
Q=" %13 T= 1*%% ¢
= 19 = \\& ,
K= 116" % 163 K= 1922 % 163

= 154 = 154



(Ee Zea'ted zmrf%

Alice wants to cemepute 1% 163

[P = 89543024305523737 044 &53|
We don’ need 23+ Lnd \= %183,

23= | 611 0 bege 2.
'S 013

\\23 - ‘ \ l6+++‘2+( =

|1 4 (63 = ||

AP %13 = 2] % 3=
14 %4 163= (121 121) %163 = | 444 | 4\ =134
1% 163 = (134 134) %63 = |7954 % \63= 2L
[1“% 163 = (26-20) % 162 =€ % |63 = 24

%163 (24134121 1\) 4 43
=[( (24- 134)% W3)-((21-1) £ 163)] %42
= [(3a % 63) (138 7 W3)] %163



/___1_/\'}_@_2_0."!«;"_"_ et meZ' and a,b,e,deZ. wher
azh (med wm)

and .

c=d (medwm),

Men a+e = b+ad (wmed m)
¥ 4.0 = b-d (wmedm)

M:_ We have

o+d = (a+ swm) + (a_.,.tm)
= (ga+ e\ + (3+t)wm

hence (o+d)%m = (a+c) %M and
ND+C = b+A (med m)

= AC + atm + Sem+ Stm=
= ac + (gt+sSc+ stwm)'m

s, bod =ac (med w)



RsA Yublic - ke ryplograph

l Secreﬂn pick 2 Pri}me nmbers © % ¢
2 ket nepg and lek g (p-1)-(o-1).

2 Vick e and 4 <} \ce< ¢(n)-\ B
[<d< gl and ed=) (med gmy)

4 Yublish e and n ag your public key.
Keep d, P ¥ ¢ secret




’RS'A examgle'.

B39 77=1220703125%77= ¢

Decyyet c=20
2V RTT =i+ B



